DGT TT S2 Electrician N
Wireman

Topic:- DGT_TT_Mar18_II_21

1) The voltage regulation of an alternator having 0.75 leading p.f. load, no-load induced e.m.f. of
2400V and rated terminal voltage of 3000V is percent.

0.75 <if3er 9w, R, 2400V &1 A1-a1s 9RT §.07. 0. 3R 3000V #1128 i alees are U eetaAel &1
Aot YrerereT gfaerd 81 [Question ID = 4884]

1. — 20 [Option ID = 19574]
2. 150 [Option ID = 19575]

3. 20 [Option ID = 19573]

4. — 26.7 [Option ID = 19576]

Correct Answer :-
e — 20 [Option ID = 19574]

2) The brush of a motor is made of:-

AT & qUo %1 &1 81T &1 [Question ID = 4894]

1. Carbon / @eleT [Option ID = 19615]
2. Brass / 9icer [Option ID = 19614]
3. Steel / TreT [Option ID = 19616]

4, Copper / €& [Option ID = 19613]

Correct Answer :-
« Carbon / @eie [Option ID = 19615]

3) If, in an alternator, chording angle for fundamental flux wave is q, its value for 5th harmonic is:-

T, T AHeetateT A, AIfF qarg ¥ a9 F fOv FIfET F0T 0 §, a7 59 gHffAF & AT sHET A ghon-
[Question ID = 4882]

1. 25a [Option ID = 19567]
2. a/ 25 [Option ID = 19568]
3.a/ 5 [Option ID = 19566]
4. 5a [Option ID = 19565]

Correct Answer :-
¢ 5a [Option ID = 19565]



Which of the following law rule can be used to determine the direction of rotation of D.C. motor ?

fawT F @ Fl @ Free e F1 sedATe HA A F Qere A o fruvor w1 & e fmar s awar 82
[Question ID = 4889]

1. Lenz's law / et &7 fa5e [Option ID = 19593]

2. Fleming's left-hand rule / FIfR3T & STU-gTr T @3T8 [Option ID = 19596]
3. Faraday's law / %138 &T @337 [Option ID = 19594]

4, Coloumb's law / TTed & f&T# [Option ID = 19595]

Correct Answer :-
 Fleming's left-hand rule / FeifH3T & STT-g1 &1 f79# [Option ID = 19596]

5) Which wiring system is inside of wall?

i T1 Il Rved fiad dar d aar 2
[Question ID = 4923]

1. Concealed wiring / 3T gafler  [Option ID = 19731]

2. Pipe wiring / 9189 arafXeT [Option ID = 19732]

3. P.V.C wiring / drdrET araier [Option ID = 19729]
4, Batten wiring / d¢aT arafiar [Option ID = 19730]

Correct Answer :-
+ Concealed wiring / alcdT argRar  [Option ID = 19731]

6) A conductor, due to sag between two supports, takes the form of:-

TS Hsey, & FAGAT & g fRAf¥ear & Fror,

1. Triangle / f387eT [Option ID = 19678]

2. Catenary / STSiR &7 [Option ID = 19680]
3. Ellipse / &8 gedf [Option ID = 19679]

4. Semi-circle / 3t€-geet [Option ID = 19677]

T & ofdT §1 [Question ID = 4910]

Correct Answer :-
« Catenary / STsiR @T [Option ID = 19680]

7) Average resistance of human body is:-

AT R &1 3t 9fa)y §- [Question ID = 4925]

1. 500 ohms / 500 3{ig#T [Option ID = 19740]

2. 2000 ohms / 2000 37ig# [Option ID = 19738]
3. 1500 ohms / 1500 1&g [Option ID = 19739]
4. 1000 ohms / 1000 3irg# [Option ID = 19737]

Correct Answer :-
« 1000 ohms / 1000 3i&# [Option ID = 19737]



8) Arcin a circuit behaves as:-

s wfbe i ard & ¥ # suggR F¥aT1 §| [Question ID = 4916]

1. An inductive reactance / Te ssfaea gfafshar [Option ID = 19702]

2. A resistance decreasing with voltage rise across the arc / 3T& & 3/R-UR dledsl gig & AL Tl Teh Tl
[Option ID = 19704]

3. A resistance increasing with voltage rise across the arc / 3T& & 3TR-UR dledsl ig & HIY Tl T Tl
[Option ID = 19703]

4. A capackive reactance / Te Huflcea gfafshar [Option ID = 19701]

Correct Answer :-

+ A resistance decreasing with voltage rise across the arc / 31T& & 3R-9R dlecs gig & AT Tl T Ffade
[Option ID = 19704]

9) A 500 kW, 3-phase, 440 volts, 50 Hz, A.C. Induction Motor has a speed of 960 r.p.m. on full load.
The machine has 6 poles. The slip of the machine will be

500 feare, 3-10T, 440 dee, 50 §¢, T.H.$3HRIT AT # o %X 9T 960 r.p.m. FHir 71fex g1 7efieT 3 6 4 &
#efier #r feT glaf- [Question ID = 4881]

1. 0.01 [Option ID = 19561]
2. 0.03 [Option ID = 19563]
3. 0.04 [Option ID = 19564]
4. 0.02 [Option ID = 19562]

Correct Answer :-
* 0.04 [Option ID = 19564]

10) In a D.C. shunt motor, speed is:-

T SHY e Al A, 71fd &)t 8- [Question ID = 4886]

1. Inversely proportional to the armature current / 3TeTR 9RT & gcshH wr@crrcﬁ [Option ID = 19584]
2. Independent of armature current / 3R €IRT T TG4 [Option ID = 19581]

3. Proportional to the square of the current / &IRT & &3T & FATITC [Option ID = 19583]

4, Directly proportional to the armature / 3R &IRT & Irer E??Tﬂ'crrﬁ? current [Option ID = 19582]

Correct Answer :-
« Independent of armature current / 3= &RT T Tad4T [Option ID = 19581]

11) Which area is preferred for solar power plants?

R Fat g9a1 F e 7w &7 Ft wufAsar & aret ¥- [Question ID = 4897]

1. Coastal areasr / I 817 [Option ID = 19625]

2. High rainfall zones / 3=a a9 &1 [Option ID = 19628]
3. Hot arid zones / 13 g[seh &1 [Option ID = 19626]

4, Mountain tops / 9dad Y [Option ID = 19627]

Correct Answer :-
» Hot arid zones / a1# g[S &1 [Option ID = 19626]



12) In house ceiling fan normally capacitor capacity used:-

B & Bd dr 98 & AT FUTRT 8771 T SEIAT fHAT SI1dT 8-
[Question ID = 4924]

1. 3 to 36 MFD / 3 & 36 THUGaY [Option ID = 19735]
2.1.5t0 2.5 MFD / 1.5 & 2.5 THAUGaY [Option ID = 19733]
3. None of these / T8 & s 3 T8t [Option ID = 19736]

4. 3.5 to 20 MFD / 3.5 & 20 THUGSY [Option ID = 19734]

Correct Answer :-
e 1.5t0 2.5 MFD/ 1.5 & 2.5 THU®RST [Option ID = 19733]

13) The presence of ozone due to corona is harmful because it:-

FRIAT F FROT AT Y ITRATT gIfAFRF gt & FfF T8:- [Question ID = 4906]

1. Corrodes the material / GTHIfT 873 FTAT § [Option ID = 19662]

2. Gives odour / 37¢T &dT & [Option ID = 19663]

3. Transfer energy to the ground / ST I FalT TATATIRA T [Option ID = 19664]
4, Reduces power factor / 2Ifd @Reh H FT ¢l & [Option ID = 19661]

Correct Answer :-
« Corrodes the material / Tt &7 FIAT & [Option ID = 19662]

14) As per L.E. Rule Medium voltage line is:-

31é.§ fAUA & TR ALAA Ao ATS gl §- [Question ID = 4892]

1. 230V to 650V / 230 dlee & 650 alec [Option ID = 19606]

2. 650V to 1000V / 650 dtee & 1000 drec [Option ID = 19607]
3.0to 230V /0 & 230 dtec [Option ID = 19605]

4. Above 1000V / 1000 dtec & FIX [Option ID = 19608]

Correct Answer :-
e 230V to 650V / 230 drec & 650 dlec [Option ID = 19606]

15) The coils of D.C. motor starter are wound with wire of:-

Al AeX T F FaIT Y & R & |1y 99 A1t §| [Question ID = 4885]

1. Manganin / A=A [Option ID = 19579]
2. Kanthal / @2Ter [Option ID = 19578]

3. Nichrome / =TTgshid [Option ID = 19580]
4, Copper / di&T [Option ID = 19577]

Correct Answer :-

« Manganin / #3TF4 [Option ID = 19579]

16) An Induction Motor is-



T SSFUA Al B-
[Question ID = 4877]

1. Self-starting with low torque / &3 €ish & TTY Heth-TeTiear [Option ID = 19547]
2. Self-starting with high torque / 3= ef& & ATY Jewh-Terfear [Option ID = 19546]
3. Self-starting with zero torque / = El& & ATY Aeh-FeTiedr [Option ID = 19545]
4. Non-self starting / @e®-FeIfear sTgt [Option ID = 19548]

Correct Answer :-
« Self-starting with low torque / & I & TTY Vewh-TeIfedT [Option ID = 19547]

17) The effect of corona can be detected by:-

FRIT F AT @ IdT 9T ST AT 81 [Question ID = 4913]

1. Faint luminous glow of bluish colour / #rer 3T & $IhT T&Ter THH [Option ID = 19691]

2. All of these / T3 fdshed [Option ID = 19692]

3. Hissing sound / f&&ehr &r 3mmarst [Option ID = 19690]

4. Presence of ozone detected by odour / 3¢ GaRT IdT &3TTsT aTelT 3iTsieT T 3ufEAfa [Option ID = 19689]

Correct Answer :-
o All of these / T8ft fashea [Option ID = 19692]

18) Rotor of a motor is usually supported on bearings.

T A 1 Ve IMAGR | faffer w wAfda §ar 8| [Question ID = 4896]

1. Needle / g$ [Option ID = 19622]

2. Thrust / g% [Option ID = 19624]

3. Bush / g2r [Option ID = 19623]

4, Ballor or Rollor / sTerr T ek [Option ID = 19621]

Correct Answer :-
« Ballor or Rollor / Sfelk 3T ek [Option ID = 19621]

19) A direct on line starter is used: for starting motors:-

A TE FI F AT AT8aT TSI 9T T Yol FT 94097 fFA1 S7aT 8- [Question ID = 4887]

1. Up to 20 H.P. / 20 T=.4T. ds [Option ID = 19588]
2. Up to 5 H.P. / 5 TT.4T. d& [Option ID = 19585]

3. Up to 10 H.P. / 10 Ta.9Y. ds [Option ID = 19586]
4. Up to 15 H.P. / 15 wa.9Y. & [Option ID = 19587]

Correct Answer :-
e Upto5H.P. /5 Ta.d). d% [Option ID = 19585]

20) Armature reaction in an alternator primarily affects:-

TF Jreeteer A IfaR wfafar e w7 @ vanfaa @t 8- [Question ID = 4883]

1. Generated voltage per phase / 9fd %ef 3¢9t dlecof [Option ID = 19572]



2. Frequency of armature current / 3R &IRT #T 3igfea [Option ID = 19571]
3. Terminal voltage per phase / 9fa et effisTer ateest [Option ID = 19570]
4. Rotor speed / JeX 31fr [Option ID = 19569]

Correct Answer :-
« Generated voltage per phase / 9fa %ol 3cdeet alecst [Option ID = 19572]

21) The unit of radio-activity is:-

ar-afafafer i s+ #:- [Question ID = 4898]

1. MeV / T4 [Option ID = 19632]

2. Curie / F{T [Option ID = 19631]

3. Electron-volt / Seiaelal alee [Option ID = 19629]

4, Electron-ampere / Soieeid-TFIRR [Option ID = 19630]

Correct Answer :-
s Curie / g3 [Option ID = 19631]

22) Overload relays are of type.

3aTens e YR &1 a1 & | [Question ID = 4918]

1. All of these / @3t fased [Option ID = 19712]
2. Induction / &2 [Option ID = 19709]

3. Thermal / 2r&eT [Option ID = 19711]

4, Solid state / dRF 3/a¥&T [Option ID = 19710]

Correct Answer :-
o All of these / @&t faeed [Option ID = 19712]

23) What is frequency of supply in India?

#Ra # amqfet #r argfca a1 ¥? [Question ID = 4921]

1. 100hz / 100 &&ST [Option ID = 19724]
2. Ohz / 0 &<t [Option ID = 19723]

3. 50hz / 50 §&sT [Option ID = 19722]
4, 30 hz / 30 g&sT [Option ID = 19721]

Correct Answer :-
 50hz / 50 g¢<T [Option ID = 19722]

24) The condition for maximum power in case of D.C. motor is:-

HH AT F A F If0FaH afFa #r Bufy - [Question ID = 4890]

1. Supply voltage = | x back e.m.f. / 3% 3mqfel @ledst = | x §.TA.TH. [Option ID = 19599]
2. Supply voltage = back e.m.f. / 3Tqfc aleest = e §.TA.TH. [Option ID = 19600]

3. Back e.m.f. = | x supply voltage / 3% $.UH.UW. = | x 3Mqfc atecst [Option ID = 19598]
4. Back e.m.f. = 2 x supply voltage / ¥ §.TH.TH. = 2 x Tfd aleest [Option ID = 19597]

Correct Answer :-



+ Back e.m.f. = | x supply voltage / & $.UH.U®. = | x 3MYfef dreest [Option ID = 19598]

25) I.E. Rule’s for:-

g8, Auw & AT g
[Question ID = 4922]

1. Both of them / &It [Option ID = 19727]

2. For better power generating / 9gaR iaX 3cdeeT @e & foIT [Option ID = 19726]
3. For safety and security / sraTa 31 & & forw [Option ID = 19725]

4, None of these / 373 & &Is 8 5TEY [Option ID = 19728]

Correct Answer :-
« For safety and security / sTd 3R GR&T & foIw [Option ID = 19725]

26) A 3-phase Induction Motor delta connected is carrying too heavy load and one of its fuses blows
out. Then the:-

%Fcr#sg?gtrw3-w§mmma§3mmam%aﬁtmwﬁ#u$ﬁaﬁﬁ%l d«:- [Question
ID = 4879]

1. Will stop and carry heavy current causing permanent damage to its winding / & SITTaTT 3K S&ehT ATS3aT Fr
YT FTHET o HROT T URT dg=T a1 [Option ID = 19555]

2. Will continue running burning its one phase / 8% T TRUT SR STeld g9 [Option ID = 19553]

3. Will continue running burning its two phase / 38 &I TXUT TRAR STefd g9 [Option ID = 19554]

4. Will continue running without any harm to the winding / argfSar @ 9= fhelT SJehaTeT & wefdm 189 [Option ID =
19556]

Correct Answer :-

« Will stop and carry heavy current causing permanent damage to its winding / & STTaT 3R SHT arsfaar &t
YT AT & HRUT HRY TRT dgeT a1 [Option ID = 19555]

27) A surge absober reduces:-

e 3y TR F# FT a1 §| [Question ID = 4919]

1. Steepness of the wave tail / 3@ o ST TelleT [Option ID = 19714]

2. Steepness of the wave / da &7 @alreT [Option ID = 19716]

3. Steep nesss and magnitude of the wave / TRt & GelleT 3K IRATOT [Option ID = 19713]
4, Magnitude of the wave / aa T 9R&ATOT [Option ID = 19715]

Correct Answer :-
« Steep nesss and magnitude of the wave / dGT &1 TalTed 3R gRATOT [Option ID = 19713]

28) 5 H.P., 50-Hz, 3-phase, 440 V, Induction Motors are available for the following r.p.m. Which
motor will be the:-

5 va.4t., 50-g¢sT, 3-T0T, 440 dlee, F3FAT AleH ArAfai@d JIR.N.UA. F AT Iuasy §1 Fle a1 A ghom:-
[Question ID = 4880]

1. 730 r.p.m. / 730 ARHITA [Option ID = 19557]



2. 960 r.p.m. / 960 3IRYTTH [Option ID = 19558]
3. 2880 r.p.m. / 2880 3RHTT# [Option ID = 19560]
4. 1440 r.p.m. / 1440 3IRATT [Option ID = 19559]

Correct Answer :-
e 730 r.p.m. / 730 ARETH [Option ID = 19557]

29) The function of lighting arrester is:-

ATSTE 3T FT FF2U=T §- [Question ID = 4920]

1. None of these / 343 & &1 & s7ET [Option ID = 19720]

2. To reduce arcing / 31T &3 =TT [Option ID = 19719]

3. To provide path to high voltage surge to earth / 3=a decsT Tl ¥ 37 deh FI TEAT 9eT HT [Option ID =
19718]

4. To limiting the short circuit fault current / Q& Hfdhe Ffe URT I WA =T [Option ID = 19717]

Correct Answer :-

« To provide path to high voltage surge to earth / 3= et Tol ¥ 37 deh T IEAT TGTeT T [Option ID =
19718]

30) Skin effect is proportional to:-

CIREIC] & FHTITAF 81T 81 [Question ID = 4909]

1. Conductor diameter / ATeleh eI [Option ID = 19673]
2. Conductor size / dTeleh &hT 3T [Option ID = 19675]

3. Conductor Length / @Tereh &Y e1%aT$ [Option ID = 19674]
4, None of these / 378 & &Is 8 sTET [Option ID = 19676]

Correct Answer :-
« Conductor diameter / dTeler <1 [Option ID = 19673]

31) Itis advisable to avoid line-starting of Induction Motor and use starter because:-

SR AT Y ABAM-TITEN 3 FEET FT STAATT FIA A T Y FeATg &Y AT § F4ifF:- [Question ID =
4876]

1. Motor takes five to seven times its full load current / HIeT 319s YT $1R &IRT & 9T & ATl I[AT el & [Option ID
= 19541]

2. Starting torque is very high / Terféaer et g 30 &IdT & [Option ID = 19544]

3. It will pick-up very high speed and may go out of step / ¥ Sg & 3T 1T 38109 3R FHgH & a8 F el
& [Option ID = 19542]

4, Tt will run in reverse direction / Tg Ra¥ g2 & =9 [Option ID = 19543]

Correct Answer :-
» Motor takes five to seven times its full load current / ®IeX 319= qoT 81 &RT & oI & I AT et & [Option
ID = 19541]

32) Overhead lines generally use:-

INTLS A1SA FT ITH I 9T 3977 FIA 8:- [Question ID = 4905]



1. None of these / 33 & @Is $i s7ET [Option ID = 19660]

2. All aluminium conductors / H3f TegfAfaT# @rersh [Option ID = 19658]
3. A.C.S.R. Conductors / THITH3IR dTeleh [Option ID = 19659]

4, Cpper conductors / dTT @l [Option ID = 19657]

Correct Answer :-
» A.C.S.R. Conductors / THITHHR dTeleh [Option ID = 19659]

33) One Microvolt is:-

TH ATSHIaTec ¢- [Question ID = 4893]

1.0.001V /0.001 dreT [Option ID = 19609]

2.0.0001V /0.0001 dreT [Option ID = 19610]

3. 0.000001V / 0.000001 dree [Option ID = 19612]

4. 0.0000001V /0.0000001 dYec [Option ID = 19611]

Correct Answer :-
« 0.000001V / 0.000001 atee [Option ID = 19612]

34) DOL starter of Induction Motors is usually restricted to:-

s Aled F N3N T AR W ¥ fav gfa<afra &1 [Question ID = 4878]

1. High speed motors / 3T a1fa AleX [Option ID = 19552]

2. High horsepower motors / 3T gl&-dfaX Alex [Option ID = 19551]
3. Variable speed motors / st 31fa Al [Option ID = 19550]

4. Low horsepower motors / & gId-uiay #AleX [Option ID = 19549]

Correct Answer :-
« Low horsepower motors / @& gI&-4ray #Alex [Option ID = 19549]

35) Reactors for propulsion applications use:-

wieere v & fore Ruaedd 1 39T #3a §- [Question ID = 4899]

1. Any form of uranium / ZfIH T 1S Hi# [Option ID = 19635]
2. Natural uranium / rehfcres Gz [Option ID = 19633]

3. Thorium / A1R&# [Option ID = 19636]

4. Molten lead / #ATecsT &8 [Option ID = 19634]

Correct Answer :-
 Molten lead / HATecsT s [Option ID = 19634]

36) In a 3-phase synchronous motor, the negative phase sequence exists when the motor is:-

T 3-50 Reped Al H, TFRIcAS St 3TFA Awerar § 579 AT ¥- [Question ID = 4895]

1. Over-loaded / 37/aX @138 [Option ID = 19619]

2. None of these / 3=13 & 15 8 A& [Option ID = 19620]

3. Under-loaded / 38T @133 [Option ID = 19618]

4. Supplied with unbalanced voltage / 3o dleesT & HTY I 315 3MYfct [Option ID = 19617]



Correct Answer :-
» Supplied with unbalanced voltage / 3rEqferd aleesT & AL T a1$ MYt [Option ID = 19617]

37) Relays can be designed to respond to changes in:-

e &t #F qRad=l ¥ wfafdFar & fre s fxar o a%ar ¥| [Question ID = 4917]

1. All of these / @Y fa@ed [Option ID = 19708]

2. Light intensity / 9ehrer dradr [Option ID = 19707]

3. Resistance, reactance or impedance / faR1Yr, Ruereea a1 §/3+8 [Option ID = 19705]
4. Voltage and current / @lecst 31X &RT [Option ID = 19706]

Correct Answer :-
o All of these / @3 Tdsed [Option ID = 19708]

38) A fission chain reaction in uranium can be developed by:-

T # v Rwsa @en sfafran garT fasTAa fam S @ehar €1 [Question ID = 4901]

1. Using moderator / AT3YEX T 3TN =T [Option ID = 19644]

2. Absorbing all neutrons / T8 #gisT &I a2 =T [Option ID = 19643]

3. Accelerating fast neutrons / AT #ggiel &I cafd &= [Option ID = 19642]

4. Slowing down fast neutrons so that Uz fission continues by slow motion neutrons / dsit & Hwﬁ?-r FI AT I

& ATfeh 35 Icate et a1y arer =gl & STRY 3§ [Option ID = 19641]

Correct Answer :-

» Slowing down fast neutrons so that Uz fission continues by slow motion neutrons / & & #gieT sl €A T
ST aTfeh 3% Scdotel it a1fY aTer =ggiet & TR @ [Option ID = 19641]

39) In a substation the following equipment is not installed:-

T garedd # Arafaf@a sgsor F1 varfa #g Y st &1 [Question ID = 4911]

1. Exciters / Tagd15eX [Option ID = 19681]

2. Series reactor / @eT Ruse [Option ID = 19682]

3. Voltatre transformers / @leeex AR [Option ID = 19684]
4. Shunt reactors / ¢ RueeX [Option ID = 19683]

Correct Answer :-
» Exciters / TeH@ETSY [Option ID = 19681]

40) The following system is not generally used:-

i@ Red F) AR 9T TAAT 781 AT 1T 8- [Question ID = 4914]

1. 1-phase 4 wire / 1-%sT 4 dR [Option ID = 19694]
2. 1-phase 3 wire / 1-%aT 3 dR [Option ID = 19693]
3. 3-phase 4 wire / 3-%sT 4 AR [Option ID = 19696]
4, 3-phase 3 wire / 3-%ef 3 AR [Option ID = 19695]

Correct Answer :-
 1-phase 3 wire / 1-%aT 3 dR [Option ID = 19693]



41) Which of the following is not a constituent for making porcelain insulators ?

et & & Fler a1 AT g I & AT v gew ¢t 82 [Question ID = 4907]

1. Kaolin / &rafelsT [Option ID = 19666]
2. Quartz / Fa1ésT [Option ID = 19665]
3. Felspar / %e¥9R [Option ID = 19667]
4, Silica / f&feraT [Option ID = 19668]

Correct Answer :-
« Silica / T&ferer [Option ID = 19668]

42) Which of the following relays is used on long transmission lines ?

Arfafad & @ fFa RS 1 39919r o9 grafAersT dasat w fFar sar 82 [Question ID = 4908]

1. Mho's relay / #gr T Rel [Option ID = 19670]

2. None of these / 3=13 & 15 8 A& [Option ID = 19672]
3. Reactance relay / Ruaeea Rer [Option ID = 19671]

4, Impedance relay / T@aa Rel [Option ID = 19669]

Correct Answer :-
o Mho's relay / #gr &1 et [Option ID = 19670]

43) For economical operation of a nuclear plant:-

TF YIATY] 64 F FRerad Wares & faw- [Question ID = 4900]

1. Moderator should be used / #ATEeX FT 3UANTT FHAT ST ATRT [Option ID = 19638]

2. Used fuel should be reprocessed / Y&l $IeT T Geoi: FEEROT fhaT ST TIET [Option ID = 19637]
3. Coolant should be employed / ffcieleh @I fegerd feham STT=IT =@ T [Option ID = 19639]

4. Control rods should be used / 99T &8 &1 sEd#AT AT ST TTfET [Option ID = 19640]

Correct Answer :-
» Used fuel should be reprocessed / Sgecl $reT ol eT: FEERIOT fehaT ST =TT [Option ID = 19637]

44) Which of the following medium is employed for extinction of arc in air circuit breaker ?

Ty e 3 A 919 F faeed @ & fw feer & & Fla a1 ameas fagFa 1 e 2 [Question ID = 4915]

1. Air / a1 [Option ID = 19698]

2. Water / 91T [Option ID = 19697]
3. Oil / 3it&reT [Option ID = 19699]
4, sf6 / TIUH6 [Option ID = 19700]

Correct Answer :-
o Air/ ag [Option ID = 19698]

45) A three point starter is considered suitable for:-

& e T TWRT & foT 3UYFd AT 1T & | [Question ID = 4888]



1. All D.C. Motors / G SrET AleX [Option ID = 19592]

2. Shunt motors / 2i¢ AIeX [Option ID = 19589]

3. Shunt, compound and series motors / 2€, Har3v3 31 Jofr Aex [Option ID = 19591]
4. Shunt as well as compound motors / g€ & ATY-HTY HUIT3US Al [Option ID = 19590]

Correct Answer :-
« Shunt as well as compound motors / 2€ & ATT-ATY HYIT3US Al [Option ID = 19590]

46) The voltage of the single phase supply to residential consumers is:-

AT SUNFATHT Y Tehel TIOT Y ATfed F7 Ao 2-
[Question ID = 4904]

1. 210V / 210 dree [Option ID = 19653]

2. 110V / 110 dree [Option ID = 19656]

3. 440V / 40 dree [Option ID = 19655]

4, 230V / 230 dtec [Option ID = 19654]

Correct Answer :-
e 230V / 230 dlec [Option ID = 19654]

47) The main source of production of biogas is:-

TRIPIT & 3cuTesT FT HET W 8-
[Question ID = 4902]

1. Wet livestock waste / aftel a[3it T &eRT [Option ID = 19647]
2. Wet cow dung / 3frer 3 &r aiteX [Option ID = 19646]

3. Human waste / #Tla 397A9e [Option ID = 19645]

4, All of these / @Y Tased [Option ID = 19648]

Correct Answer :-
o All of these / 3T Tdsed [Option ID = 19648]

48) Alternator are rated in:-

HeeTAeT A # Heaiwa far 7T €| [Question ID = 4891]

1. KVAR / TR [Option ID = 19604]
2. KVA / &dT [Option ID = 19603]

3. KW/ W[Option ID = 19601]

4. KWH / @hgsegue [Option ID = 19602]

Correct Answer :-
o KVA / %dT [Option ID = 19603]

49) Economisers improve boiler efficiency by:-

Il arrer gataT # a% PUR FId ¢ | [Question ID = 4903]



1. 20% / 20 wfaerd [Option ID = 19652]

2. 1t0 5% / 1 & 5 gfaerd [Option ID = 19649]
3. 4 to 10% / 4 & 10 9faera [Option ID = 19650]
4. 4to 10% / 4 & 10 gfaerd [Option ID = 19651]

Correct Answer :-
e 410 10% / 4 & 10 9faera [Option ID = 19650]

50) Constant voltage transmission entails the following disadvantage:-

R et grafaere Arafaf@a Faare o SR & §- [Question ID = 4912]

1. Short-circuit current of the system is / increased / UTTeIT &7 2IT¢ Tfehe o1& ST § [Option ID = 19686]

2. Large conductor area is required for same power transmission / FHTeT fdegd TeROT & fIT o3 shseFel &1 Hr
3TaRTehaT gt & [Option ID = 19685]

3. None of these / 378 & Ig 3T =T8T [Option ID = 19688]

4, Either of these / 3=131 & #1$ 8ff [Option ID = 19687]

Correct Answer :-
« Short-circuit current of the system is / increased / JUTTelY & QIT¢ Tfdhe ¢ STAT & [Option ID = 19686]



